MTHE 237 FINAL EXAM

DECEMBER 09, 2017

QUEEN’S UNIVERSITY APPLIED SCIENCE
DEPARTMENT OF MATHEMATICS AND STATISTICS
INSTRUCTOR: ILIA SMIRNOV

Instructions: This exam is three hours in duration.

Please write your answers in the booklets provided. Hand in both the booklets and the
question paper.

To receive full credit, you must justify your answers. Answers with little or no justification
will receive little or no credit.

Calculators, data sheets, notes, and other aids are not permitted. A table of Laplace trans-
forms is provided on the last two pages.

Good Luck!

Please Note: Proctors are unable to respond to queries about the interpretation of exam
questions. Do your best to answer exam questions as written.

STUDENT NUMBER:

1 2 3 4 5 Total

This material is copyrighted and is for the sole use of students registered in Mthe 237 and writing
this examination. This material shall not be distributed or disseminated. Failure to abide by these
conditions is a breach of copyright and may constitute a breach of academic integrity under the
University Senate’s Academic Integrity Policy Statement.
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TABLE OF LAPLACE TRANSFORMS

Notation: N={0,1,2,...} natural numbers, R real numbers.

1 t>a
~, unit step function with jump at t = a.
0 otherwise
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2 TRANSFORMS OF QUASIPOLYNOMIALS AND THE UNIT STEP FUNCTIONS
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